Tuesday, mmvﬂ 23, NO@AH— 3. Use this line: 4x -6y = 30
Write the equation of the line that s perpendicular to this
line and passes through the point (7,-11)

;_@mvﬁm 2 Bellwork

For 1 and 2 use this line: y=4x +3
1, Write the equation of the line thatis parallel to this line and passes through

the point (-1, 5)

4. Use thisline: x=9
2. Write the equation of the line thatis perpendicular to this line and Write the equation of the fine that is perpendicular to this
passes through the point (8, -2) line and passes through the point (-3, 13)

5. Aplumber comes to your house to do a repair and charges you $155 for
3 hours of work. The same plumber comes the next week and charges you
$295 for 7 hours of work.

a. Write a linear equation to model the amount of money the plumber
charges as a function of the number of hours he spends making a repair.

b. Predict the cost for an 11 hour repair.

c. How much time did the plumber work if the bill was $242.507
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For 1 and 2 use this line: y=4x+3
1, Write the equation of the line thati is umﬁ_‘_m_gmo this line and passes through
the point (-1, 5)

Y,.m me‘& or Y (X +¢

2. Write the equation of the line thatis perpendicular to this line and
vmmmmm .38:@: the point (8, -2) =S =

Qr?,w\ Wy ly-§) or 3=

3. Use this line:  4x -6y = — M=
Write the equation of the line that is perpendicular to this
line and Ummmmm through-the-peint-(7-11)—

/\ H ..ww\x dL

4. Use thisline: x=9 /\m\i\pﬁ«(ﬁ r..).h

Write the equation of the line that is perpendicular to this
line and passes through the point (-3, 13)
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5. A plumber comes to your house to do a repair and charges you $155 for
3 hours of work. The same plumber comes the next week and charges you

$295 for 7 hours of work. N 2 ) _WUV m\~ aw\ma‘\v

a. Write a linear equation to model the amount of money the plumber
charges as a function of the number of hours he spends making a repair.

M\\ 35 % 450

b. Predict the cost for an 11 hour repair.
\ 35( :v +50
X ¢

c. How much time did the plumber work if the bill was $242.507
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